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for the questions

1. Answer the following as directed : 1x10=10
were R HomiqEd Ses e -

(a)} The difference between traditional and
modern logic is not one of kind but of
degrees / qualities / languages.

( Choose the correct option )
ATPRITS  WF G SRR e

APIRTS T2 9% 2 25 TS / 39S / SR
N4 |

( Wz Resuot ot Sfaea )
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(b)

(c)

(d)

(e)

(f)
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( 2)

Every compound statement S

functional. Is it true?

truth-

AT e BER oSl TS | X

A ?

pvd
P
g
What is the name of this rule?

@2 fFrar A 2

Who is the author of the
Prior Analytics?

Prior Analytics 934 3@ (FIA?

book,

A conjunctive function is true if any one

of the conjuncts is true. Is this statement

correct?

B @SS T e =W IR o B I

G5l TGS To) W | PR T ?

Shorter truth table method is a part of

propositional logic / predicate logic.

( Choose the correct option )

5 A ErE el Siferl AR  AGAIAS
SHR@ / R SHRE@A G5 =1 |

( o Reew! S Shred )
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(g) Give an example of subjectless proposition.

S pemRER qoue B Saiad o

(h) Truth or falsity is a property of logic /
proposition / argument.

( Choose the correct option )
Fore! AZA SPTOrel (R OHR@N / o /

e w1
( ws fosn I Sl )

(i) Ideograms directly stand for
( Fill in the blank )
R xR derwerd ot T
( I B2 | T )
(j) Are symbols and signs same?

4T qF BT @ G ?

2. Answer the following questions in brief : 2x5=10
wrE SR 5 Tee
(a) Give the definition of a proposition
according to modern logic.

WWW@HWW}R@TWI

(b) Write two distinctions between logical
constant and variable.

oE 57T WIF 77 A AR s 49! !
o1z fordt |
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(c)

(d)

(e)

If A and B are true statements and X and
y are false statements, then determine
whether the following is true or false :
it A W% B o] W oI X A Y 99 7,
R oS PRI o) (7w frdy w9
(Av X).(Y Vv B)
Mention two similarities between direct
and indirect truth table.
AT Wi AT erel SR o APl
Ty 90|
Symbolize the following statements :
T RoTies AT FS 4P 4l
(i) If it doesn’t rain, then we shall go for
picnic.
3 qage Fific, ot @i wwrSTEtE
g |

(ii) It is false that Russia has won the
war

<201 el @ AR Ee o |

3. Answer any four of the following questions :

5x4=20

o AR B e BiReR Sew ot

(a)
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Write a short note on the characteristics
of symbolic logic.

AT OFR®T WREEEe Raw afb
Gt fert | g

( Continued )



(b) Distinguish between general proposition
and class-membership proposition.

AR I59 HiE N el o9 TEre At
fmete @ar |

(c) What is meant by interdefinability among
truth-functions? Explain.

ANl TEEIRY GIGd GRS (inter-
definability) 3T & @2 e w4t

(d) Distinguish between inclusive and exclusive
sense of disjunctive truth-function.

s Torel Fa TEEte WF IRSE e
Toia i et |

(e) State the rules of inference that are used
for constructing formal proof of validity.

Qe WIS ANl S5 S JERE w4
A TR S w96

(f) Write a short note on the uses of symbols

in logic.
ofEe a8ed AR Rw ofb Y G
fer |
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4. Answer the following questions : 10x4=40

CeR PTRE Tl

(a)

(b)
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What is general proposition? Explain the
classifications of general proposition with
proper examples. 2+8=10
Age o7 $7 TATE THRATTR AT 619
caafere= g F4

Or /[ S

Discuss the points of similarities and
dissimilarities between traditional and
modern logic. 10
spEeEiae WIF Wi SRR TeS 39
P SF (PP oA 41

What is logical connective? Give brief
introduction to different kinds of logical
connectives used in symbolic logic. 2+8=10
Fy e W 7 AST SRS
REe @l R{fer SR REESHE AT
“Af58 SISCGH |
Or / J_1

What is symbol? What is the role of
symbols in translating our everyday
language? 2+8=10
2R8I 57 Wi Tl SIS ST F9 SR
TR IR CFAO O Sl S 9 |

( Continued )



(c) What is truth-function? Construct truth
table for the basic truth-functions. 2+8=10

Torsl o [$9 (NEe ToreEdd aid
sors! oiferd 55w F4i |

Or / 311

What is indirect truth table method?
Construct indirect truth table to determine
the validity or invalidity of the following
arguments : 2+4+4=10
s erel oifere 57 o TR (3l
31 stage! RrEel B @ Torel ST

S5 T4l
(i) (R.QvS
R
~Q/..5.R

(i) (PvQ).l~S.Q)
~S
e D

(d) What is formal proof of validity? What are
the strategies for constructing a formal
proof of validity? Discuss. 2+8=10
o SRS ol 7 REeR HIPRETS
sier siowa e 5 R cEer aaiel =2
LA T4l

A23/759 ( Turn Over )



Or /| 31

Construct a formal proof of validity for the
following arguments : 5+5=10

O R FRC @ISR SRS o719 5157
39

(i) (~K.P)D(BVR)
~ K D (B D D)
~KV(RDE)
~K.P . ./DVE

(ii}) EDI(F.~G)

(FVG)D H
E /o H
* Kk K
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